Math 181 F1 Quiz 6 Name:

Two pages, 4 problems, 10 points. Show all work. No calculators.

Problem 1 (1 point). What is a man-in-the-middle attack?
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Problem 2 (1 point). Decode the following text using one of the cypher methods we have used:
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Problem 3 (3 points). Write out the truth table for “(A zor B) and A”.
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Problem 4. (a) (1 point) Write the multiplication table mod 5
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(b) (1 point) What numbers are zero-divisors mod 5%
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(c) (1 point) What numbers have square roots mod 5
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(d) (2 points) Use the quadratic formula to find all z satisfying x?
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